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BMDI-0281 

DIPLOMA IN PROSTHETICS AND 
ORTHOTICS (DPROR) 

00 	 Term-End Examination 
O 
O 	 December, 2012 

BMDI-028 : SPINAL ORTHOTICS 

Time : 3 hours 	 Maximum Marks : 100 

Note : All questions are compulsory. Marks are alloted against 

each question. 

1. 	Expand the Full form : 	 2x5=10 

(a) SOMI 

(b) TLSO 

(c) ASH brace 

(d) LS - FE control orthosis 

(e) IS band 

2. 	Definition : 

(a) Scoliosis 

(b) Osteoporosis 

(c) Spinal Orthosis 

(d) Low back pain 

4x5=20 
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3. 	Short notes : 	 5x4=20 

(a) Charleston bending brace 

(b) Taylor brace 

(c) Chairback Orthosis 

(d) CTO 

(e) Four - post Collar 

	

4. 	Long type Question (any two) 
	

2x10=20 

(a) Explain the fabrication process of Boston 
brace. 

(b) What is CTLSO ? Write down its fabrication 
process and its indication. 

(c) Explain SOMI and its use. 

(d) What is the difference between Taylor and 
Knight Taylor brace ? Explain its 
biomechanics. 

	

5. 	Descriptive type Question (any two) 	2x15=30 

(a) Explain fittment and fabrication process of 
HALO brace. 

(b) What is role of Milwaukee brace in spinal 
deformity ? Explain biomechanically. 

(c) Describe the prescription criteria of Scoliosis 
brace. 

(d) Define Osteoporosis and its Orthotic 
management for spine. Explain its 
biomechanics. 
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1. Tri 	: 	 2x5=10 

(a) 1•1-1.31.T. 

(b)  

(c)  

(d) Mc-WI 

(e) 1 

2. 	LI RITTFErdc : 	 4x5=20 

(a) LIR 810,71 11 

(b) 31-'rr- 31-1-71--4fTTE 

(c)  

(d)  
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3. c fir : 
	 5x4=20 

(a) flr-i-tri 041 ---"41-91.  

(b) 7117-Nt 

(c) 	ch 5I c1 	i 

(d) 41.t.3t. 

(e) -41—K{ 

4. 	vF C47)1 t 
	

2x10=20 

.(a)   t 	 i;rt-f-T a,1 fq---4-ToT 4 I 

(b) "T-TT t? T{Tk 	19i141 

f-itrjff 	fF4 I 

(c) 74 - Trk 7,41)T1 	 

(d) 2Q•R 	 cHI at-d-{ t? 

	Da, f44-7r 1-).  

5. 	ksq cid oh 	( )1 
	

2x15=30 

(a) HALO zF-qt 	 4-c1-11 Y9111-1 
ogRaii 	 

(b) 1Ti4t-fd 	a-qt chrzERI-1-Tr q-Err 

t ? 	 

(c) -4,--q-9'1 	-,;itq-r-i 4-1C-Iqu8 	cql.(9611 

ch 	 I 

(d) 3-1- 34) 	 41 yrol-rfEru   7zrt 	 

.qffLa 	,ilaqiNch owsql 
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